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SECTION - V
|ug - v
ENVIRONMENTAL STUDIES
T aRuT ST

There are 30 questions in all in this section.
All questions are compulsory.
HEEHFA 30THE |
Tt yvT AfEE §

121. Nuclear family refers to

(&) any family born after 1950

[B) family includes parents and their children

(C) entire family including children, their parents and grandparents
(D} only husband and wife.

Tehed URER @ died #

(&) o 1950 % =18 = 9RER

(B) uiEr e aa-fuar @ 7% o=

€ wogul ofEr foed 9=, 3% aa-faa o <SR-

(D) Fod qfd-geh |

122. Tobacco addiction is due to

A

{C)

Cocaine (B) Caffeine

Nicotine (D) Histamine.

qrETE, F e fohw Qg € 2
@A) FIHA (B) &FHA

(&)

fA=ifan (D) feedy
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123. What are the minimum ages for marriage of boys and girls in India ?

124.

125.

{A) 21 years and 18 years

(B) 18 years and 21 years

(03] 18 years and 18 years

(D) 18 years and 16 years.

Hd H g 9 TSfhal ) faae Irg JFa9 &g« § ?
(A 219937 1894

(B 18997 21354

© 18543 189

(D) 18983 163 |

Main occupation of people of Rajasthan is
(A) mining (B) bakery
(C) poultry farming {D) agriculture.

T & @l T e Heay #

@ T B) ww

(€ gty D) F

Which of the following places of Rajasthan does not have sugar factory ?
A Keshoraipatan (B) Nimbahera

(C) Udaipur (D) Bhoopal Sagar.

ToeE ¥ 7 0 8 fee s w® e 9 & hREH e § 2
A FIEEURA B R

C) A (D} VU AR |
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126. In case of fraud or unfair business behaviour, we should lodge a complaint at
(A) Consumer Protection Forum
(B) District headquarters
(C) Tehsil
(D}  Gram Panchayat.
ft ereE SFfEA SATMF sAaeR 1 9 §H firsma & =fe g
(A) I T T &
B oo qEe =Y
(C) deHe =
(D) o 9=rEE W)
127. How many members of Rajya Sabha are nominated by the President ?
@A 12 (B) 18
@ 20 D) 22,
Tyl g TeaE T wee maE g € 2
A 12 B) 18
¢ 20 Dy 22,

128. District industry centre provides employment to urban and rural youths under a

scheme known as

(A) Prime Minister's Gramin Sadak Yojana
(B) Prime Minister's Rojgar Yojana

(C) Jawahar Gram Samriddhi Yojana

(D) Swarna Jayanti Gram Swarojgar Yojana.
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foen s2im = firw 9o % a8a YeQ wE Ui gEsdi w1 ISR qRAT S § 2

(A) Ry U g8 e

(B) FUHEH Ao A

() <l U™ wgfg I

(D) v S U WSTR HeT |

129. Which country has the maximum number of tube-wells in the world ?

{A) America (B) Australia
{C) China (D) India.
HOR § Afeehan w@Eaa fFagm d ® ?

W emfE | s
(€)= (D) 9T |

130. The Gangaur festival is celebrated on

(A]  Chaitra Shukla Teej

(B) Shravan Shukla Teej

(C) Bhadrapada Krishnapaksha Ashtami

(D) Chaitra Shukla Navami.
TMIRIR o1 BN 991 91 &

(A) = YE =

(B) Hm@w I&EA il HI

(C) WTXUE FOTIE EH &I

(D) <A YEE FIH HT |
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131. City of Lakes in Rajasthan is

(A)  Jaipur (B) Jodhpur
(C)  Udaipur (D)  Ajmer.
TS H FHd ® AR

(A A (B) SYUE

(O TR (D) TS |

132. Who built the Vijay Stambha ( Tower of Victory ) ?
{A) Maharana Kumbha (B) Maharana Sanga
(C) Maharana Pratap (D)  Maharaja Jaisingh.
T = fopas semn ?
(A)  HEWION FE (B) HERIN WM
(C)  wHEWw War (D)  WEIS SEfdE |

133. Following traffic sign indicates :

/

S/

(A)  Major road (B) Pedestrian crossing

(C) Railway crossing (D) Narrow bridge.

LI 301 | [ P.T.0.
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fr=ifRa aTaT g @1 Y ®

@A) THATEH (B)

(C) e shitm (D)
134. Full form of ATM is

(&  Automated Teller Machine

(B)  All Time Money

(C)  Automated Transfer Machine

(D)  Audit Teller Machine.

WU & EY

(A) SATEMATT TR WA

(B] AT IEH HAT

Q) SARHES giaw "yt

(D) 3Aifse o wIfA |
IEHHHTT 101

Yot TRy

Tl gferan |
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135. Message sent by computer is known as
(A} SMS
(C) E-mail
FHEI F HLAH | 9 FH TR LW F FEA ©
(&) THEHUE
(€ ¥-wa

136. Carrier of Dengue disease is

(A)  Aedes mosquito

(C)  Housefly
<7 U F AEE ©
(A TEN st
(€)= T

137. The biochemical laboratory of human body is

(A) stomach

(8] intestine

e ¥ TR F) -t e ¥
@)

() o=

IR 101

FAX

Telegram.

Eraipi i

Culex mosquito

Anopheles mosquito.

TR g8 |

liver

kidney.

TaF |
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138. Aim of Pulse Polio programme is

(A) treatment of Polio

(B) stop paralytic effect of Polio
(C)  complete eradication of Polio
(D) all of these.

o UiferEl HRiEwH F RN §

(&) e s I9ER

(B) ifer ® I el Bl UHA
(© Wifear F1 gegul INEH BT

(D) TG T

139. Kashmiri Gown is known as

(&)  Firan (B)  Angrakhi

(C) Bugtari (D) Achkan.

FHYHRT <M FEAA T

@) fFE (B)

(€ IR D) oTEFA |
140. Habitat of Dog fish is

(&) River (B}  Pond

(© Lake (D)  Sea,

FH1 TIE 1 @A §

&)y (B) TS

) = (D) HH% |

(LR 101 |
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Full form of CNG is

(a) Common National Gas
(B) Compressed Natural Gas
(C} Common Natural Gas
(D)  Certified Natural Gas.
TSt & qU ¥ ?

(A) = A T

(B T g e

(© = T |

(D) wiEwEs A=ra i |
Wildlife Week is celebrated on

A) 1st October to 7th October
(B) 15th October to 2 1st October
() 1st June to 7th June

(D] 15th June to 21st June.

g S WATe T S ¥

(A) 1R 7 R T

(B) 153§ 21 TRH TF

© 1[I 7T

(D) 15SF ¥ 2157 T |
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143, State tree, state bird and state animal of Rajasthan State are

(A)  Khejari, Godawan, Chinkara

(B} Khejari, Peacock, Tiger

(C} Babool, Godawan, Lion

(D} Mango, Peacock, Tiger.

YR T & TG 381, T59 9eft aan 59 5g %A ©
A @S, TremEy, fHwm

(B) WSl WK, 90

©) w9, MeE, W

(D) &M, 91, &9 )

144. In which state of matter, the distance between the molecules is minimum ?
A) Solid (B) Liquid
(C) Gas (D) Plasma.
T i R staen § Sl F Heg & g gAaH B § 2
@ <= B

© = (D) TEH |
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145,
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Which state is known as ‘Tiger State’ ?
A) Rajasthan (B) West Bengal
(C)  Gujarat (D) Madhya Pradesh.

F-T TH IR R F AR R A E 2

@) T B)  feeH S

© T D) TE WY |
Which of the following has maximum speed ?

(A)  Air (B) Water Current
(C)  Sound (D)  Light.
frfafea & faae a1 sfuswaq & 2

&) T (B) &Y

(C) (D)  wemE |

Which energy is converted into electrical energy by a solar cell ?
(A) Chemical energy (B) Nuclear energy
(C)  Solar energy (D)  Magnetic energy.
i A4 g fFa oo Y fage =i § oo 1 g6l § ?

& TEEfE S (B) AR =

(C) v (D) ==h1a FHel |
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148. Maximum amount of gas found in air is

149.

150.

(A)  oxygen

{C} hydrogen

T o waffus A § 9 S At @
(A) AT
Q) wESISA

Renewable source of energy is

{A)  Coal

(C) Plants

Ft F FeAIHONE HA §
(A)  FEE

© 9

Ozone layer is found in

(d)  Thermosphere

(C) Troposphere

e wa Tt &
(A eHfeREr E
© Erdrewa §

101

(B)

(D)

(B)

(D)

(B)

(D)

B)

(D)

(B)

(D)

(B)

D)

carbon dioxide

nitrogen.

FET SIATFES

ELINH |

Petroleum

Uranium.

Stratosphere

Mesosphere.

SRR

feiemR o |



